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Key leisure projects
in the Mersey Waterfront
Regional Park programme:
Another place, Water
Centre and Observatory

Proposed new
canal-side park
- green space

opportunity

Green space & \ :
opportunities AT A% 7 ~
at Poets Park T

Development of Coffee House
Bridge sites may provide
green space opportunities

Green Space Strategy for Sefton
Framework Plan
Bootle

Development of Peoples
site may provide green
space opportunities

—_—

- -

Area Committees

Parks and pitches

\1

Accessible nature space

® e o e 0 e Strategic paths

EEENE Canal

Issues and Opportunities

¢ ¢ ¢ o0 e Proposed Strategic paths
A Highest priority parks improvement sites
n Potential green space opportunities

o Potential green space opportunities
linked to development

Final plans will be in colour and include
extra details e.g.

* Children’s play areas
* Other key greenspaces
* Existing and proposed Green Flag sites

© Crown copyright. All rights reserved Sefton Council, 100018192, 2008
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